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OVERVIEW

1¥9R " taught that (only) a 703 772 can be acquired through 72°wn ap.' The X3
challenged this ruling from a 71wn which states that a 703 7272 is 77°012 N°1P1; and
the X3 answers the X" is following the ruling of the Xn»72. However, the Xn>>72
equates a 7102 2 with a ap7 7102; either both are acquired 73°wn2 (the view of the
D0m), or both are 7172372 73pP1 (the view of w'"7). How can we reconcile the view of
X"7 (who [seemingly) maintains that only a 703 7n72 is 72°wn2 N°1P1) with any of
the other opinions mentioned?! MdoIn refers us to look elsewhere for an answer.
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Here is not the main place to discuss this issue; however in the first 5 of
wy7op noon, I discussed it at length.?

SUMMARY
The explanation of this ruling can be found it Pw17p NOo~.

THINKING IT OVER
If mooin is not explaining anything here; why mention anything at all?!®

' From 77°0ma 71"7 *"w" it seems that X" maintains that a 703 772 can be acquired only through 72°wn and not
through 77°0n.

* See "X,

? See ‘Overview’.
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